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BT [REERES | #m2] 1 118H-h)

X ik E VP ¢ 65mm m | 3m2IZ 1A

B #h iR BEEYG t=10mm | m2 | 10mIZ1ERT

FERH LBk Ty7 &6
= Wit ULt 200
(B RAHET A 1=2. Onm) N
g FH 1
'S > K42 JLGN-150SP-8 x 3E% 325L 1,454 LSZS‘
2,100
TYyrLATL 10m%Y
SRt 63.0
it 24.0
%t UBG LR 44 58.8
BEET7h—EY 42.0 BIEER L= 15042 m
»a 10.5 FIER L= 15103 m
EHIER L= 15073 m
£ 1 3 1% g = B =

avo)—k Ock=18N/mm2 | (RR—IEHEEIZLD) = 151.409 m3
BB EHEEY (RR—=UEHEEICLD) = 228.04 m2
AR RC-40 (RR—DHEEIZLD) = 46.96 m3
S5 K+€)L |GN-150SP-8 63.0 ./10x 15.103 = 95.1 m2
EHEM ZLoafob 240 ~10x 15103 = 36.2 vk
WHUBTIEH#  [seRsigram=2m| 588 10% 15103 = 88.8 m2
#tls7oh—Ey  [[020 % 300 420 /10x 15.103 = 63.4 &
Ba RC-40 105 10X 15.103 = 15.9 m3
- HEEMNES (RR—=UHEEICLD) = 99.87 #tm2
Kk B VP ¢ 65mm 99.87 .3.0x% 1.49 = 49.60 m
B i R BEEE t=10mm [151.409 10 = 15.14 m2




BEEYMAWR 3L PR No.1
0.
s EEm) BEE(H) BAEh) 2241 —k(m3) B H(m2) EARE(M3) 218 T (#m2)
at# — wr = . " wr = " . wr = . " wr =
i = ® Tty | Hi H2 hi he | W@ WiE2 &8 | W&l W& B | WE1 WE2 %8 | WE1 WE2 NE
13 5.251 5.251 5.251 6.825 6.809 0.888 0.881| 10.078 10.055 52.859 15.18 15.14 79.61 3.13 3.12 16.41 6.64 6.63 34.84
14 0.728 0.728 0.728 6.809 6.807 0.881 0.880( 10.055/ 10.052 7.319 15.14 15.14 11.02 3.12 3.12 2.27 6.63 6.63 483
15 9.063 9.124 9.094 6.807 6.779 0.880 0.869 10.052/ 10.012 91.231 15.14 15.08 137.41 3.12 3.10 28.28 6.63 6.61 60.20
&t 15.042) 15.103| 15.073 151.409 228.04 46.96 99.87
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HEFEE
O ¥kt
mE ERENE wILER B miE (YA
170y GN-150SP-8 Al= 2.100 X 10.000 X 3 = 63.0 0.45
Y 63.0m
GN-150SP-8 ¥ A= 63.0 X 1.10 = 69.3 m?
miE (ORE10%)
O st
T 75 A (1) FIGERRRD ERFRIE) FIGERRRD
178v%9 8 X 3 + 0 X 0 = 240tvhk
¥ IN= 240 ..
O LB IE#E
R (BEHEE A RSy TiEm) x (EEFESYTBmx Sy TH+BBEEM) (AR IV REXB)
170949 Al= (51+05) x (01%x5 x 10000) = 58.8
¥ IB= 58.8 X 1.05 = 61.7 m?
& (ARE5%)
O #tlE7>h—E> BEESyTY  LTRG/E
178v%  Ni= 7 X 6 = 42
X IN= 42.0 7 |
O thig#t
(RYkL RIE) (RyLREE) (REER)
170wy Vi= 2.100 X 0.450 X 10.000 = 9.5
X V= 9.5 X 1.1 = 105 m®
K& (£ EE{EE10%)
1EBHY t=15¢cm Mg 63.0 m

t=20cm miE 00 m
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V30. 850
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\
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|
\
\
23.763 } 23.764
EL ] g
% e s B
611 900 489 2,300
2,000
TYrLRL 10m%Y
55 Rl 69.0
B 30.0
0% s LB LR 44 63.0
BEE7Vh—EY| 420
B»a 11.4
% £ iR % = = B =
((1.950+1.506)/2x0.889+1.600x4.937+(1.435+
avy)—k ock=18N/mm2| 1.935)/2x1.000]x0.900-[0.500x0.239/2+(0.500+ = 9531 m3
0.600)/2x0.200+0.250x5.437+0.250x0.500/2]x0.300
[1.118x(6.826-1.00)+1.001x0.90+[ 1.118x(6.826~
s gt s 0.889)+0.8891x0.60+(0.45+0.554+6.303+0.50)x0.30+
i) A i1
B ow A RIS £0.500x0.239,/2+(0.500+0.600),/2x0.200+0.250x 16.80 m2
5.437+0.250x0.500/21x2
RiARa RC-40 ((0.335+0.829)/2x4.937]x0.90 = 259m3
BB T HEENRIE 1.118x(6.826-0.889)x0.90 = 5.97 #m2
Kik&E VP ¢ 65mm 1.39x6 = 834 m
G35 Rl GN-150SP 69.0 /10x 0.900 = 6.2 m2
iR w31k 300 ./10x 0.900 = 2.7 #ybk
R LBFIEAT  [BeEsseFasm=2mm| 630 10X 0.900 = 57 m2
#is7Lh—EY |20 % 300 420 /10X 0.900 = 38 &
Ba RC-40 11.4 /10x 0.900 = 1.0 m3
ATUL AR |PL-1000x500x3mm = 5.0 %
ATUL AR [PL-600x500x3mm = 1.0 &
ATUL AR [PL-350x500x3mm = 1.0 &
(Mt R K K BY
((0.950+0.580)/2x0.740—(0.440x0.100+0.300x
avy)—k 0 ck=18N/mm2| 0.490)1x(0.611+0.489)+[0.600x0.740—(0.440x = 0.630 m3
0.100+0.300x0.490)1x0.900-0.300x0.224x0.150
B & INEVREE Y 0.74x3x2.00+0.30x0.15x2+0.224x0.15x2 = 4.60 m2
HEBBRAR RC-40 (0.63+0.555)/2x(0.611+0.489)+0.65x0.90 = 1.24 m2
&= C1-B300 2.0%2.00 = 40
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HEFEE
O U35 vkt
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170y GN-150SP  Al= 2.300 X 10000  x 3 = 69.0 0.45
¥ 69.0m
GN-150SP ¥ A= 69.0 X 1.10 = 75.9 m?
& (ORE10%)
O st
T m(fE) 5 (3ERED ERAMJE) 5 (3ERED
170vs 10 X 3 + 0 X 0 = 300tvk
¥ IN= 300 ..
O LB IE#E
Bz (AEmHEN A RSy T1Em) x EEAASYTEm X SYTHBRBEEM) (AR UM RIEXEX)
17avs Al= (55+05) x (01x5 x 10000) = 63.0
¥ IB= 63.0 X 1.05 = 66.2 m?
& (ORHE5%)
O #tlE7>h—E> BEESyTY  LTRG/E
178w%  Ni= 7 X 6 = 42
X IN= 42.0 7 |
O mhEE#t
(YL XIE) (RyLREE) (REER)
178w4  Vi= 2.300 x 0.450 X 10000 = 104
X Iv= 104 x 11 =| 11.4 m’
K& (£ EE{EE10%)
1B &Y t=15cm Mg 69.0 m

t=20cm miE 00 m
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400 2A¥vU—F
o ck=18N/mm2 EihEEE 1.0m% Y
% 18 | ¥ B
a2 Y—bt |ock=18N/mm2 | m3 |0.60H-0.034
il # E|EEED m2 | 1.044H+0. 20
REED L H 1 — k =EHE t=15cm m2 |1.044H
o ck=18N/mm2 HERR RC-40 (t=20cm) | m2 |0.67
=60 KikE VP ¢ 65mm m | 3m2(Z 1R
S \ 600\100 B # iR EEE t=10m | m2 |10mIz1E5RT
S © ) \ a9 —b | ock=18N/m2 | m3 |0.088
ERRE
RC-40 2] 640
ns | zZs 5 (H) a>9')—km3) E#(m2) EHHEM2)
H1 H2 | Bl BRrE2 | %2 | im0 Bim2 | #E | Bm | BmE2 HE
7-2 3511 1.755 1650 1019 0956 3467 203 192 693 183 172 6.23
8 15.657| 1.650 1.650| 00956 0956 14.968| 192 192 3006 172 172 2693
&Et | 19.168 18.435 36.99 33.16
£ 1 3 1% g = Hn B
avo)—k ock=18N/mm2| (LEHEZEIZELD) = 18.435 m3
EiLy i EHEEY (EERFHEZEICLS) = 36.99 m?2
ERE (t=15¢cm) (LEFEZEICLD) = 33.16 m2
ERna RC-40(t=20cm) | 0.67 X 19.17 = 12.84 m2
KIRE VP ¢ 65mm 2320 ./3.0% 0.61 = 472 m
st —k|ock=18N/mm2| 0.088 X 19.168 (§8&7-2~9) = 1.687 m3
B #h ik FEEHE t=10mm | (18.435+1.687).710 = 2.01 m2
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J 900 L avy1)—k |ock=18N/mm2 | 0.300x0.800-0. 720x0. 327x0. 050-0. 189x0. 150~
0. 300x0. 300x0. 150x2 0.374 m3
1,000 ) . (0. 90+0. 40) /2x1. 00x2+0. 90x1. 00+0. 30x1. 00x2+
2 # T REn 0. 60x1. 00x2+0. 30x0. 15x4+0. 30x0. 158x4 4.37 m2
&% 7 SD345 D13 1. 86x0. 995x2 3.70 kg
HERA RC-40 (t=15cm)| 1.00x (0. 375+0. 45) /2 0.41 m2
FREE S (T-14 180° BAEH) | AfAK:275x 688 x 44. W=29. Okg 32#:327 x 720 x 50 1.0 #8
£ E1 b2 % g = B 2
0.900x0.900x1.000-0.900x0.500x1.000,/2-0.600x
avyl)—k 0 ck=18N/mm2| 0.300x0.800-0.720x0.327x0.050-0.189x0.150~ = 0.374 m3
0.300x0.300x0.150x2
. (0.90+0.40)/2x1.00x2+0.90x1.00+0.30x1.00x2+
Bidll A 1 & =
B ow NS 0.60x1.00x2+0.30x0.15x4+0.30x0.158x4 4.37 m2
% SD345 D13 1.86x0.995x2 = 3.70 kg
HIERA RC-40(t=15cm) | 1.00x(0.375+0.45)/2 = 0.41 m2
= T-14 180° BARA| AIK:275 % 688 X 44 W=29.0kg % #:327 X 720 X 50 = 1.0 #8
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N
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BEYAW #—FL—JL (Gr—C-2B)

oL b
93(7 % ‘ Gr-C-2B
g g |
2 FRAIF7IERIFELZIL Bk 1Y (SD345)
&5 % & A 52 ke
o (M | o 1,490 2 2.97
oﬁ FEHFEE - =8 @) D13 1,250 2 2.49
< \ @ n13 ® D13 1,420 2 2.83
&5t 8.29
300
- §7 330
N8 g
- o - 8
@ g % g x 8
N ) ] )
o J— = 2 ~
D13 o & M
g (3) 2-D13x1,420
D13
L
i & E
iz [ E s G
Eith AR 10.00 m 6.0 EAT
ait 10.00 m 6.0 EFT
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BEYAW REREILZILIR T
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HRIER|1. 009] o 4,016 1,100, 38! :Z‘ 2.611 ‘900‘ 5,251 ‘729‘ 9.124 ‘ 6,163
I N A
A ’
] =R (SL)
e | E ‘ g
= Bl s | s =
11 0.900| 617 6.13 5.54
12 2611 583  583| 1522
13 0900 583 583 5.25
14 5.251 583  583| 3061
15 0.728| 583 583 424
16 9094 583 583 5302
&% | 19.484 113.88
% 5 b3 ¥ g = # 2
REREILZILIAT|(t=5cm) 113.88 m2
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‘ 250
M 1 STV
(G S AL -
‘ A& ¢ 250, RANL=1.0m
|
(11 ‘ iﬁ?‘ 100 x5.5x 8
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2 T—%—+t | a
Nusx w1
8 iﬁ{cm 1 500 |
EI 5007 500’>
g M
g ] X 1T
E] } L=0. 4m@1. Om
‘ |
DWS@%O m—D
s B TEW) a2 91)—km3)
m | wi w2 | W@ P ME
No.1+1.5 0.000| 1.101 0.661| 0881 0881 0
BC.1 7.039] 1082 0661| 0872 0877 6.173
No.2 9.884| 1.064 0661| 0863 0868 8579
INET 16.923 14.752
RA R ERFERR 7T /4x0.2572x1.0x9 —0.441
A&t 16.923 | | 14.311
AFER= 16923 m
% L b2 % g =
BWEmE #31%2.6xH8 B 56mm 4x16.923 = 67.7 m2
H#2 4R H-200x100x5.5x8 5.0x9x20.9/1000 = 0.940 t
H#2 4R H-150x75x5x7 7.0x16.923x14.0/1000 = 1.660 t
HEEa291)—k | 0 ck=18N/mm2 (LECEHEZEICKD) = 14.311 m3




